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=38 RARIIZH-KAIEER
(AL A) k244

X sy sl 1A | 2H [ 3A | 4H | A | 6H [ 7H | 84 | 9A | 10H [ 114 | 124

7 | 200| 19| 17| 14| 19| 18| 17| 18| 23| 14| 18| 15| 17

B | 103 10 7 8 9 9 8 10| 12 71 10 5 8

A I| 106 9 10 6| 10 9 9 8| M 7 8| 10 9

th x| 24 2 5 1 2 2 2 - 3 3 2 1 1

H % 8 2 - - - 1 - - - 2 2 1 -

A T 16 - 5 1 2 1 2 - 3 1 - - 1

H x| 26 2 1 2 2 5 1 2 2 - 5 3 1

B %] 13 2 - 1 1 2 - 1 2 - 4 - -

A Tl 13 - 1 1 1 3 1 1 - - 1 3 1

] x| 21 3 - 1 3 1 1 1 3 2 5 - 1

ST N - - 1 1 - 1 1 2 - 1 - -

A I 14 3 - - 2 1 - - 1 2 4 - 1

[} x| 33 2 5 2 2 3 4 5 2 4 - 3 1

B | 15 1 4 1 - 2 1 2 1 2 - 1 -

A T 18 1 1 1 2 1 3 3 1 2 - 2 1

% fe M K| 53 6 4 2 5 6 4 8 1 3 2 4 8

B8 33 3 2 2 4 4 2 6 - 2 1 2 5

A T 20 3 2 - 1 2 2 2 1 1 1 2 3

7 e db x| 18 1 1 - - - 4 1 2 2 - 4 3

SR N - 1 - - - 3 - - 1 - 1 1

A Il 1 1 - - - - 1 1 2 1 - 3 2

%@ = x| 15 1 1 1 2 1 - 1 6 - 2 - -

ST /N B 1 - 1 1 - - - 3 - 1 - -

A Il 8 - 1 - 1 1 - 1 3 - 1 - -

1 {E| [ 19 2 - 5 3 - 1 - 4 - 2 - 2

B 13 1 - 2 2 - 1 - 4 - 1 - 2

AN I 6 1 - 3 1 - - - - - 1 - -

&3 FRAAH-FEPRECTH - & HE+HRPEE) T
CIEPN)
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Es K L T

e | g | O | | g | e

R 154 59 47 12 5.1 4.1 1.0

16 45 38 7 4.0 3.4 0.6

17 34 27 7 3.1 2.5 0.6

18 40 33 7 3.6 2.9 0.6

19 39 36 3 3.4 3.1 0.3

20 44 37 7 3.9 3.3 0.6

21 46 34 12 4.0 3.0 1.0

22 46 34 12 4.0 3.0 1.0

23 41 36 5 3.6 3.1 0.4

24 44 34 10 3.9 3.0 0.9

84



=40 ARlIZH-XBEEHETH

SERERER

(BAT : AN) k244
X oyl ks 1A |28 |3 |48 [ sA | 6eA | 7TA | 8A | 9A |10A |11A | 124
28 ¥ 44 5 3 3 6 4 2 6 5 3 4 1
% B % & 34 4 - 3 4 4 2 4 4 3 4 -
BgmaEREe 10| 1| 3| - 2| -| -| 2 - -] -] 1
aR [X. 3 1 - - - - - - - 1 _ 1 _
% ¥ x pE 3 1 - - - - - - — 1 _ 1 _
A A - - - - - - _ _ _ _ _ B
W X 5 1 - - - 1 - 1 - _ 2 _
% W ¥k BE 5 1 - - - 1 - 1 - - 9 _ _
BWEA IR - - - - - - - _ _ _ _ B
3] X 4 - - - 1 - 1 1 1 - _ _
% Mmoo 4 - - - 1 - 1 1 1 - - _ _
BWEA IR - - - - - - - _ _ _ _ B
[} X 5 - 1 1 - 1 - 1 1 - - _
% W s pE 2 - - 1 - 1 - - - _ _ _ _
LA SR 3 - 1 - - - - 1 1 _ _ N
7 & M OIX| 16 3 1 1 3 2 1 2 - 1 1 1 -
% # O g 13 2 - 1 2 2 1 2 - 1 1 1 -
B EA IR 3 1 1 - 1 - - - - - _ _
ﬂ 'fE jl: [Z 4 - 1 - - - - 1 — 1 — 1
wowow o 1| -| -| -1 - -1 - - - 1 - -| -
sggewse 3| - 1| - - -| -| 1| -| -| - 1
%7 = X 4 - - - 1 - — - ) _ 1 _
% # O E 4 - - - 1 - - - 2 _ 1 _
A AT - - - - - - - - - _ _ _ _
(S (ST S - - 1 1 - - - 1 - - - _
w om o ol 2| -| - N T 1 - _
B EA IR 1 - - - 1 - - - - _ _ _ _

85



SR
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(BAT : AN) k244
B % B % %k N
ol 12 | 22 | 28 | 37 ol 12 | 22 | 28 | 37 Mol 12 | 22 | 28 | 37
X 7 i i i
{ 0 0 o { 0 N 5 { { l o
¥ 21 27 36 iR e 21 27 36 T+ e 21 27 36 S
“ ¥ 209] 175 18] 12 4 103| 69| 18 12 4 106| 106 - - -
i X 24| 21 1 1 1 8 5 1 1 1 18 18] —| —| -
i X 26| 21 4 1 —| 13 8 4 i - 131 13 —| —| -
&3] X 211 17 2 2l — 7 3 2 2l  —| 14| 14 —-| —| -
[if) X 331 31| — 1 1 15 13 -— 1 1 18 18 —| —| -
% o om K 53| 40 8 4 1| 331 20 8 4 1l 20 200 —| —| -
7 e db X 18] 17 1 e 7 6 i - - 1f 111 - - -
7 = X 150 11 1 2 1 7 3 1 2 1 8 sf —| —| -
1 1A X 19 17 1 11 —| 13 11 1 | - 6 6f —| —| -—
F=42 TERRBAFHAICHT-BOEE OEEHR) BIFEEL
CXEUN SERL244F
2 ER 3k & B N L % pE
ol 12 | 22 | 28 | 37 ol 12 | 22 | 28 | 37 w12 | 22 | 28 | 37
F fip i i i
l 0 0 5 { 0 ! 5 l 0 0 o)
s |20 |27 |36 | | s | 21 [ 27 |36 | | g |20 |27 [36 | L
E N Sl 209 175 18 12 4 103| 69 18 12 4 106| 106 - - -
15 B KR 1 i -1 -1 -1 -1 -1 -1 -l - 1 i - -1 -
15 ~ 19 % 8l 17| —| — 1 4 31 —| — | 14 14 - - -
20 ~ 24 % 351 32 2l — 1 6 3 2l — i 29 291 —| —| -
25 ~ 29 % 43| 38 3 2l —| 24 19 3 2l —| 19| 19f —-| —| -—
30 ~ 34 % 54| 42 7 5/ —| 35| 23 7 51 —| 19| 19f —-| —| -—
35 ~ 39 % 39| 27 6 5 1| 25 13 6 5 i w4 14 - - -
40 ~ 44 % 6 15| —| — 1 8 71 - - 1 8 gl —| —| -
e D 1t 3 31 —| —| - 1 i -1 - - 2 2l —| —| -
=43 BOEHE ORmREHR) AIH =X BIFEER
(BT + A) SRR 244F
s it RE i S i REEEEAEEEEEE
EON ] 209 24 26 21 33 53 18 15 19
15 % R i 1 1 — — — - — — _
5 ~ 19 5% 18 1 3 — 5 6 1 1 1
20 ~ 24 % 35 7 — 5 6 7 5 1 4
25 ~ 29 % 43 3 7 4 8 6 4 3 8
30 ~ 34 % 54 4 10 7 7 17 3 2 4
35 ~ 39 % 39 3 6 4 5 12 2 5 2
40 ~ 44 5% 16 4 — — 2 5 2 3 —
D fih, 3 1 — 1 — — 1 — —
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F44 AR A =X R 9B IR 4 2

PEHRBLRT

CHr : 1) T4
S wir | 1A | 28 | s | 4R | 58 |6 [ 7A | 8A | 9A | 108 | 1A |12
@ % |6.672| 309 570 710| 509| 587| 482| 575| 491 445\ 554 676 674
=&} X 923 53 73 96 70 90 66 75 61 80 67 87 105
W X 633 47 50 66 49 44 41 52 46 39 56 60 83
[E2] X 802 48 76 102 54 7 48 67 72 46 66 78 68
ic) X 1,219 69 120 131 99 100 80 109 82 72 108 130 119
7 e X 1,400 82 112 134 97 111 115 139 113 88 118 160 131
27 = At X 618 43 55 72 39 64 42 47 43 38 55 65 55
% E X 426 23 30 49 40 45 36 35 21 27 32 38 50
= =] X 651 34 54 60 61 56 54 51 53 55 52 58 63
FAS KIFHEDFE OmER) BlIZH -1EREAH

CRAE : ) SPRk244E

¥ #® 15 15 20 25 30 35 40 45 50 55 60
TR S PR I L

* oo ow

% B i 19 24 29 34 39 44 49 54 59 s
@ # |50 —| 57| 791| 2,052| 1,264| 581| 236| 65| 10| 5 2| —
5o & owm | o= -~ | -] | - - | | -] | -
15 ~ 19 % | 128 46| s6| 16| 7| 3 —| —| —| —| -| -
20 ~ 24 % |08 —| 10| s22| s3] s2| w4l e 1| —| —| -| -
25~ 29 s |23 —| 1| 183| 1,401 537 144| 32| 7| —| —| —| -
30 ~ 34 % |10 —| —| 25 221| 542| 243| 56| 10| 2| —| —| -—
35 ~ 39 s | 393 —| —| 5| 20| 90| 18] 96| 14 1] —| —-| -
40 ~ 44 gz | 100 —| —| —| 2| 5| 17| 40| 31| 3 2o -| -
45~ 49 % 13 - - - - il 1 sl 2| 4 - —| -
50 ~ 54 % 2l —| - —-| - - i - - -1 yy -| -
55 ~ 59 i 4 —| - - | -1 - i - —| 2 1| -
60 % LIk I -1 -1 - -1 = -t -1 -1 - - I
x B N L I

1 Kim & bR OS5 E
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BEIRAR T

&A6 FRANH =T HIEFED

(BT %)
NI NI 2[E
PN PN # K

i Fn 50 4F 26. 7 24. 4 27.0 24.7
60 28.0 25.3 28.0 25.2 28.2 25.5

Opk T AR 28.1 26.1 28.0 25.9 28.5 26.3
8 28.1 26. 2 27.9 26.0 28.5 26.4
9 28.1 26. 4 28.0 26.1 28.5 26.6
10 28.2 26.6 28.1 26. 3 28.6 26. 7
11 28. 4 26.8 28. 2 26.5 28. 7 26.8
12 28.6 27.0 28. 3 26. 7 28.8 27.0
13 28.8 27.1 28.5 26. 8 29.0 27.2
14 28.9 27. 4 28.6 27.1 29.1 27. 4
15 29.3 27.7 28.9 27.3 29.4 27.6
16 29.4 27.8 29.1 27.5 29.6 27.8
17 29.5 27.9 29.3 27.6 29.8 28.0
18 29.7 28. 2 29.5 27.8 30.0 28. 2
19 29.8 28.2 29.5 27.8 30.1 28.3
20 29.9 28. 3 29.7 28.0 30. 2 28. 5
21 30. 1 28.5 29.8 28.2 30. 4 28.6
22 30. 2 28.8 30.0 28. 4 30.5 28.8
23 30. 4 28.9 30.1 28.6 30.7 29.0
24 30.5 29.1 30.2 28.17 30.8 29.2
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8. HEEIEMRET

&A1 RRIZH =R B IR

BEhEHeE!

(AT - ) ik 244F
X 2y | k| 1A [ 2A | 3H | 43 | 5A [ 6A | 7TH | 8H | 9A |10 | 114 | 124
73 #(2,227( 170 175| 215| 165 204 216 189 187 179| 174 160 193
H x| 299 17| 20 331 17| 24| 30| 27| 21| 23] 23] 30| 34
H x| 26| 19 17| 21 18] 20 17| 16| 19| 22| 16 9 22
E] x| 233 14| 16| 27| 16| 30| 23 of 18| 23 17| 19| 21
[ x| 364| 25| 31| 40| 23] 39| 28] 331 20 27 36| 29| 24
% fe M K| 462| 41| 37| 35| 34| 36| 48| 43| 44| 40| 33| 33| 38
7 fe Jb x| o2e62| 21 14| 29 21| 23] 28] 29| 26| 17| 22 10| 22
77 e x| 134 13| 10 10| 14| 12| 11| 13 71 10l 11| 11| 12
e 1A x| 257 20| 30| 20 22 20| 311 19| 23| 17| 16/ 19| 20
48 FEEER A 1= 5B HARE Bl B B 44 2

(BT« 1) K 244F

[Fi Je=- 440 i 5y B s e IR Fnfi Rt

# 4 2,227 1,952 225 - 25 25 -
6 7 H K W 54 51 2 — — 1 —
64 H ~ 1A 64 56 8 — — — —
I ~ 24K 156 143 10 - 1 2 —
2UFE ~ SEERTE 149 128 18 - 1 2 —
ME ~ AEAH 154 137 13 - 3 1 —
AF ~ BEERTE 133 123 9 - - 1 —
BAE ~104EA 466 413 47 - 4 2 —
104F ~ 154F AT 300 254 34 - 6 6 —
154F ~204F AT 238 203 29 - 3 3 —
20 4 Lk 341 292 39 - 4 6 —
R ¥ 172 152 16 - 3 1 —
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